CE ID CE Name	Site ID	Site Name	Equipment		timated Unit Cost, Each	Quantity Awarded		Total
			Coolers: Merchandiser or Display					
00025 Poteet Independent School District	041	Poteet Junior High	Case	\$	8,200.00	2	\$	16,400.00
00038 Beeville Independent School District	001	A C Jones High School	Steamer: Pressure	\$	15,500.00	1	\$	15,500.00
		Fadden-Mckeown-Chambliss	Refrigerator/Cooler: Walk-in/Reach-					
00038 Beeville Independent School District	102	Elementary	in	\$	25,000.00	1	\$	25,000.00
			Coolers: Merchandiser or Display					
00039 Pawnee Independent School District	101	Pawnee Elementary - Junior High	Case	\$	4,381.65	1	\$	4,381.65
			Serving line: Hot/Cold; Mobile or					
00039 Pawnee Independent School District	101	Pawnee Elementary - Junior High	Stationary	\$	6,851.76	1	\$	6,851.76
			Serving line: Hot/Cold; Mobile or					
00051 Troy Independent School District	103	Edna Bigham Mays Elementary	Stationary	\$	28,500.00	1	\$	28,500.00
			Refrigerator/Cooler: Walk-in/Reach-					
00070 Imagine Educational Foundation	001	Lighthouse Charter School-B Campus	in	\$	3,514.00	1	\$	3,514.00
00071 Kipp: San Antonio - FDP	043	Kipp Poder Academy	Coolers: Beverage/Milk	\$	1,300.00	1	\$	1,300.00
			Serving line: Hot/Cold; Mobile or					
00071 Kipp: San Antonio - FDP	043	Kipp Poder Academy	Stationary	\$	11,500.00	1	\$	11,500.00
Brooks Academy of Science And		Brooks Academy of Science And						
00074 Engineering	001	. Engineering	Coolers: Beverage/Milk	\$	4,823.00	1	\$	4,823.00
Brooks Academy of Science And								
00074 Engineering	102	Brooks Academy Lonestar	Coolers: Beverage/Milk	\$	1,397.00	1	\$	1,397.00
Brooks Academy of Science And			Refrigerator/Cooler: Walk-in/Reach-					
00074 Engineering	102	Brooks Academy Lonestar	in	\$	2,221.00	1	\$	2,221.00
Brooks Academy of Science And		•	Serving line: Hot/Cold; Mobile or		,		•	·
00074 Engineering	102	Brooks Academy Lonestar	Stationary	\$	1,430.00	1	\$	1,430.00
Edgewood Independent School		, , , , , , , , , , , , , , , , , , ,	Refrigerator/Cooler: Walk-in/Reach-		,		<u> </u>	,
00080 District-San Antonio	125	Stafford Center	in	\$	40,000.00	1	Ś	40,000.00
Cooc District Sun 7 miles me		- Canera Conten		T	.0,000.00		Υ	.0,000.00
00091 Judson Independent School District	102	! Hopkins Elementary	Coolers: Beverage/Milk	\$	6,000.00	2	\$	12,000.00
COOST SUUSON MUCEENIUCIE SCHOOL BISCHICE	102	. Hopkins Elementary	Coolers: Deverage/iviiik	<u> </u>	0,000.00			12,000.00
00091 Judson Independent School District	105	Park Village Elementary	Coolers: Beverage/Milk	Ś	6,000.00	1	¢	6,000.00
00031 Judson independent School District	103	Tark village Liementary	Coolers. Deverage/ Willik	٧	0,000.00		٧	0,000.00
00091 Judson Independent School District	112	Elementaryolf Elementary	Coolers: Beverage/Milk	Ś	6,000.00	2	¢	12,000.00
Southside Independent School	113	Liementaryon Liementary	Serving line: Hot/Cold; Mobile or	ڔ	0,000.00		ڔ	12,000.00
00092 District	100	Losoya Int	Stationary	\$	50,000.00	2	ċ	100,000.00
00032 DISTRICT	103	LUSUya IIIL	Stationally	Ą	30,000.00	2	Ą	100,000.00
00102 Kopperl Independent School District	001	Vannari School	Coolors: Povorago/Milk	ċ	2 000 00	1	ć	2 000 00
00102 Koppen independent School District	001	Kopperl School	Coolers: Beverage/Milk	\$	2,000.00	1	\$	2,000.00

CE ID CE Name	Site ID	Site Name	Equipment	timated Unit Cost, Each	Quantity Awarded	Total
			Serving line: Hot/Cold; Mobile or	· · · ·		
00102 Kopperl Independent School District	C	01 Kopperl School	Stationary	\$ 1,700.00	1	\$ 1,700.00
Cranfills Gap Independent School		· ·	Refrigerator/Cooler: Walk-in/Reach-	·		·
00103 District	C	000 Central Kitchen	in	\$ 16,000.00	1	\$ 16,000.00
			Cabinet: Hot/Cold Holding;			
Columbia-Brazoria Independent			Mobile/Transport; Stationary/Reach-			
00117 School District	C	01 Columbia High School	In	\$ 2,500.00	1	\$ 2,500.00
Columbia-Brazoria Independent						
00117 School District	C	01 Columbia High School	Coolers: Beverage/Milk	\$ 7,000.00	3	\$ 21,000.00
Columbia-Brazoria Independent			Serving line: Hot/Cold; Mobile or			
00117 School District	1	.02 West Columbia Elementary	Stationary	\$ 6,000.00	2	\$ 12,000.00
Columbia-Brazoria Independent			Serving line: Hot/Cold; Mobile or			
00117 School District	1	.06 Wild Peach Elementary	Stationary	\$ 3,000.00	1	\$ 3,000.00
00137 Caldwell Independent School District	C	41 Caldwell Middle	Coolers: Beverage/Milk	\$ 1,600.00	1	\$ 1,600.00
			Coolers: Merchandiser or Display			
00137 Caldwell Independent School District	C	41 Caldwell Middle	Case	\$ 1,700.00	1	\$ 1,700.00
			Serving line: Hot/Cold; Mobile or			
00137 Caldwell Independent School District	C	41 Caldwell Middle	Stationary	\$ 7,000.00	1	\$ 7,000.00
00137 Caldwell Independent School District	C	42 Caldwell Int	Coolers: Beverage/Milk	\$ 1,600.00	2	\$ 3,200.00
			Coolers: Merchandiser or Display			
00139 Snook Independent School District	C	02 Snook Secondary	Case	\$ 10,560.00	1	\$ 10,560.00
			Serving line: Hot/Cold; Mobile or			
00139 Snook Independent School District	C	02 Snook Secondary	Stationary	\$ 42,240.00	1	\$ 42,240.00
00161 Pittsburg Independent School Distric	t 1	.03 Pittsburg Elementary	Oven/Range - Combination	\$ 14,500.00	1	\$ 14,500.00
			Serving line: Hot/Cold; Mobile or			
00173 Anahuac Independent School District	: 1	.01 Anahuac Elementary	Stationary	\$ 40,000.00	2	\$ 80,000.00
Eden Cons Independent School						
00220 District	С	000 Central Kitchen	Steamer: Convection Pressureless	\$ 7,000.00	1	\$ 7,000.00
	_					
00239 Lorenzo Independent School District	C	01 Lorenzo High School	Coolers: Beverage/Milk	\$ 10,000.00	1	\$ 10,000.00
			Coolers: Merchandiser or Display			
00239 Lorenzo Independent School District	C	01 Lorenzo High School	Case	\$ 10,000.00	1	\$ 10,000.00
			Refrigerator/Cooler: Walk-in/Reach-			
00247 Advantage Academy	1	.01 Advantage Academy	in	\$ 4,650.00	1	\$ 4,650.00

CE ID CE Name	Site ID	Site Name	Equipment	imated Unit Cost, Each	Quantity Awarded	Total
00270 Cityscape Schools	(000 Central Kitchen	Oven/Range - Convection	\$ 4,950.00	1	\$ 4,950.00
00270 Cityscape Schools	(000 Central Kitchen	Serving line: Hot/Cold; Mobile or Stationary	\$ 4,950.00	1	\$ 4,950.00
00270 Cityscape Schools	(000 Central Kitchen	Steamer: Convection Pressureless	\$ 5,800.00	1	\$ 5,800.00
00276 Dallas Independent School District	(Barbara M. Manns High School For Disciplinary Alernative Education D29 Program (DAEP)	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District	(030 Maya Angelou High School	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District	(Dr Wright L Lassiter Jr Early College O90 High School	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District		Personalized Learning Preparatory At 160 Sam Houston	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District		189 Clara Oliver Elementary	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District		195 Preston Hollow Elementary	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District	2	220 Mark Twain Fundamental Vanguard	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District	2	260 Lorenzo De Zavala Elementary	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District	2	263 J P Starks Elementary	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District	2	285 N W Harllee Early Childhood Center	Food Processor	\$ 5,500.00	1	\$ 5,500.00
00276 Dallas Independent School District	3	John Leslie Patton Jr Academic 389 Center	Food Processor	\$ 5,500.00	1	\$ 5,500.00
Duncanville Independent School 00278 District		103 Merrifield Elementary	Coolers: Beverage/Milk	\$ 5,200.00	1	\$ 5,200.00
Duncanville Independent School 00278 District		109 Glenn C Hardin Intermediate	Coolers: Beverage/Milk	\$ 4,200.00	2	\$ 8,400.00
Duncanville Independent School 00278 District	<u> </u>	110 Grace R Brandenburg Intermediate	Coolers: Beverage/Milk	\$ 4,200.00	2	\$ 8,400.00
Duncanville Independent School 00278 District	<u> </u>	112 James R Bilhartz Jr Elementary	Coolers: Beverage/Milk	\$ 4,200.00	2	\$ 8,400.00

CE ID CE Name	Site ID	Site Name	Equipment		timated Unit Cost, Each	Quantity Awarded		Total
00291 Hereford Independent School Distric	t (040 Special Programs Center	Coolers: Beverage/Milk	\$	3,848.03	1	\$	3,848.03
00291 Hereford Independent School Distric	t (042 Hereford Junior High	Coolers: Beverage/Milk	\$	3,848.03	2	\$	7,696.06
00317 Hedley Independent School District	(001 Hedley School	Coolers: Beverage/Milk	\$	2,100.00	1	\$	2,100.00
Nueces Canyon Cons Independent 00329 School District	1	LO1 Nueces Canyon Elementary	Coolers: Beverage/Milk	\$	2,500.00	2	\$	5,000.00
Nueces Canyon Cons Independent 00329 School District	1	101 Nueces Canyon Elementary	Serving line: Hot/Cold; Mobile or Stationary	\$	2,000.00	1	\$	2,000.00
00336 Milford Independent School District	(001 Milford School	Coolers: Beverage/Milk	\$	3,000.00	1	\$	3,000.00
00336 Milford Independent School District	(001 Milford School	Coolers: Merchandiser or Display Case	\$	2,000.00	1	\$	2,000.00
00336 Milford Independent School District	(001 Milford School	Serving line: Hot/Cold; Mobile or Stationary	\$	40,000.00	1	\$	40,000.00
00345 Clint Independent School District	(041 Clint Junior High	Oven/Range - Convection	\$	10,000.00	1	\$	10,000.00
00345 Clint Independent School District	C	045 Ricardo Estrada Junior High	Oven/Range - Convection	\$	10,000.00	1	\$	10,000.00
00345 Clint Independent School District	1	102 Red Sands Elementary School	Coolers: Beverage/Milk	\$	3,253.14	2	\$	6,506.28
00345 Clint Independent School District	1	102 Red Sands Elementary School	Refrigerator/Cooler: Walk-in/Reach-in	\$	1,709.00	2	\$	3,418.00
00345 Clint Independent School District	1	103 Desert Hills Elementary	Serving line: Hot/Cold; Mobile or Stationary	\$	5,754.40	1	\$	5,754.40
Fort Bend Independent School 00386 District		113 Briargate Elementary	Serving line: Hot/Cold; Mobile or Stationary	\$	55,000.00	1	Ś	55,000.00
00398 Seminole Independent School Distric		103 Young Elementary	Coolers: Beverage/Milk	Ś	3,500.00	2	Ś	7,000.00
Hitchcock Independent School		200 Joung Elementary	Cabinet: Hot/Cold Holding; Mobile/Transport; Stationary/Reach-	Y	3,530.00		Υ	7,000.00
00407 District	(001 Hitchcock High School	In	\$	1,000.00	1	\$	1,000.00
Hitchcock Independent School			Cabinet: Hot/Cold Holding; Mobile/Transport; Stationary/Reach-					_
00407 District	C	042 Crosby Middle	In	\$	1,000.00	1	\$	1,000.00

CE ID	CE Name	Site ID	Site Name	Equipment	Estimated Unit Cost, Each		Quantity Awarded	Total
	Collinsville Independent School			Serving line: Hot/Cold; Mobile or				
00425	5 District	20	00 Collinsville Elementary	Stationary	\$	25,000.00	1	\$ 25,000.00
				Cabinet: Hot/Cold Holding;				
	Petersburg Independent School			Mobile/Transport; Stationary/Reach-				
00455	5 District	00	01 Petersburg School	In	\$	4,076.00	3	\$ 12,228.00
	Petersburg Independent School							
00455	5 District	00	01 Petersburg School	Coolers: Beverage/Milk	\$	3,816.35	1	\$ 3,816.35
	Petersburg Independent School							
00455	5 District	00	01 Petersburg School	Oven/Range - Combination	\$	2,319.00	1	\$ 2,319.00
	Petersburg Independent School							
00455	5 District	00	01 Petersburg School	Oven/Range - Convection	\$	17,845.00	2	\$ 35,690.00
				Serving line: Hot/Cold; Mobile or				
00466	6 Kountze Independent School District	10	01 Kountze Elementary	Stationary	\$	80,000.00	1	\$ 80,000.00
00467	7 Silsbee Independent School District	00	01 Silsbee High School	Oven/Range - Convection	\$	7,500.00	1	\$ 7,500.00
00467	7 Silsbee Independent School District	10	05 Laura Reeves Primary	Oven/Range - Convection	\$	7,500.00	1	\$ 7,500.00
	Association for the Advancement of							
00474	4 Mexican Americans	00	04 George I. Sanchez Charter North	Oven/Range - Convection	\$	7,000.00	2	\$ 14,000.00
				Cabinet: Hot/Cold Holding;				
			Amigos Por Vida - Friends for Life	Mobile/Transport; Stationary/Reach-				
00484	4 Amigos Por VidaFriends For Life	00	01 Charter School	In	\$	4,000.00	1	\$ 4,000.00
22.12			Amigos Por Vida - Friends for Life	6.4			_	
00484	4 Amigos Por VidaFriends For Life	00	O1 Charter School	Coolers: Beverage/Milk	\$	2,500.00	1	\$ 2,500.00
22.12			Amigos Por Vida - Friends for Life	Coolers: Merchandiser or Display			_	
00484	4 Amigos Por VidaFriends For Life	00	01 Charter School	Case	\$	2,500.00	1	\$ 2,500.00
22.12			Amigos Por Vida - Friends for Life	Refrigerator/Cooler: Walk-in/Reach-			_	
00484	4 Amigos Por VidaFriends For Life	00	01 Charter School	in	\$	10,000.00	1	\$ 10,000.00
			Harmony School of Exploration-	Serving line: Hot/Cold; Mobile or				
00497	7 Harmony Public Schools	10	02 Houston	Stationary	\$	4,900.00	2	\$ 9,800.00
				Serving line: Hot/Cold; Mobile or			_	
00535	5 Waskom Independent School District	: 10	03 Waskom Elementary	Stationary	\$	107,000.00	1	\$ 107,000.00
				Serving line: Hot/Cold; Mobile or				
00539	Channing Independent School Distric	t 00	00 Central Kitchen	Stationary	\$	5,800.00	1	\$ 5,800.00
	Paint Creek Independent School	_		Refrigerator/Cooler: Walk-in/Reach-	,	. =	_	. =
00543	3 District	00	01 Paint Creek School	in	\$	4,795.00	1	\$ 4,795.00

CE ID CE Name	Site ID	Site Name	Equipment	timated Unit Cost, Each	Quantity Awarded	Total
Sharyland Independent School			Serving line: Hot/Cold; Mobile or			
00573 District	04	42 Sharyland North Junior High	Stationary	\$ 35,000.00	2	\$ 70,000.00
Monte Alto Independent School			Refrigerator/Cooler: Walk-in/Reach-			
00577 District	10	01 Monte Alto Elementary	in	\$ 75,000.00	1	\$ 75,000.00
Valley View Independent School			Serving line: Hot/Cold; Mobile or			
00578 District-Pharr	10	03 Valley View Elementary North	Stationary	\$ 125,000.00	1	\$ 125,000.00
			Serving line: Hot/Cold; Mobile or			
00584 Itasca Independent School District	00	00 Central Kitchen	Stationary	\$ 3,086.46	1	\$ 3,086.46
00641 Buna Independent School District	10	01 Buna Elementary	Oven/Range - Convection	\$ 15,000.00	1	\$ 15,000.00
			Coolers: Merchandiser or Display			
00643 Kirbyville Independent School District	t 00	01 Kirbyville High School	Case	\$ 20,000.00	1	\$ 20,000.00
			Serving line: Hot/Cold; Mobile or			
00643 Kirbyville Independent School District	t 04	41 Kirbyville Junior High	Stationary	\$ 50,000.00	1	\$ 50,000.00
Nederland Independent School			Serving line: Hot/Cold; Mobile or			
00651 District	00	01 Nederland High School	Stationary	\$ 90,000.00	1	\$ 90,000.00
00679 Runge Independent School District	00	00 Central Kitchen	Coolers: Beverage/Milk	\$ 3,865.00	1	\$ 3,865.00
			Coolers: Merchandiser or Display			
00679 Runge Independent School District	00	00 Central Kitchen	Case	\$ 7,950.00	1	\$ 7,950.00
00679 Runge Independent School District	00	00 Central Kitchen	Oven/Range - Convection	\$ 9,734.00	4	\$ 38,936.00
			Serving line: Hot/Cold; Mobile or			
00679 Runge Independent School District	00	00 Central Kitchen	Stationary	\$ 4,749.00	1	\$ 4,749.00
00679 Runge Independent School District	00	00 Central Kitchen	Steamer: Pressure	\$ 12,727.00	1	\$ 12,727.00
			Refrigerator/Cooler: Walk-in/Reach-			
00683 Kaufman Independent School District	: 10	01 Phillips Elementary	in	\$ 5,700.00	2	\$ 11,400.00
			Refrigerator/Cooler: Walk-in/Reach-			
00683 Kaufman Independent School District	: 10	03 Monday Primary	in	\$ 5,700.00	2	\$ 11,400.00
		Helen Edwards Early Childhood	Refrigerator/Cooler: Walk-in/Reach-			
00683 Kaufman Independent School District	10	05 Center	in	\$ 5,700.00	2	\$ 11,400.00
			Serving line: Hot/Cold; Mobile or			
00707 Paris Independent School District	10	08 Justiss Elementary	Stationary	\$ 80,000.00	1	\$ 80,000.00
			Refrigerator/Cooler: Walk-in/Reach-			
00741 Mexia Independent School District	10	03 A B Mcbay Elementary	in	\$ 25,000.00	1	\$ 25,000.00

00753 Slaton Independent School District 001 Slaton High School Coolers: Beverage/Milk \$ 5,000.00 1 \$ 5,000.00 00753 Slaton Independent School District 001 Slaton High School Case \$ 6,000.00 2 \$ 12,000.00 00750 District 001 Slaton High School Case \$ 10,000.00 1 \$ 10,000.00 00750 District 007 Roosevelt High School Case \$ 10,000.00 1 \$ 10,000.00 Matagorda Independent School 007 Central Kitchen Oven/Range - Combination \$ 2,685.01 1 \$ 2,685.01 00772 Palacios Independent School District 001 Palacios High School Stationary \$ 30,000.00 2 \$ 60,000.00 Van Vielk Independent School District 103 Van Vieck Int Oven/Range - Combination \$ 3,500.00 2 \$ 7,000.00 Eagle Pass Independent School 0073 District 103 Van Vieck Int Oven/Range - Combination \$ 3,500.00 2 \$ 7,000.00 Eagle Pass Independent School 0074 District 041 Eagle Pass Individend Tibe School Coolers: Beverage/Milk \$ 2,419.13 2 \$ 4,838.26 Eagle	CE ID CE Name	Site ID	Site Name	Equipment		imated Unit Cost, Each	Quantity Awarded		Total
Coolers: Merchandiser or Display	007F2 Characteria and a Cabard Bird in	0.0	of Clara History	Carloss Barrage (MIII	ć	F 000 00	4	<u> </u>	F 000 00
00753 Slaton Independent School District 001 Slaton High School Case S 6,000.00 2 S 12,000.00	00753 Slaton Independent School District	00	11 Staton High School		\$	5,000.00	1	\$	5,000.00
Roosevelt Independent School Coolers: Merchandiser or Display S 10,000.00 1 \$ 10,000.00	007F2 Slaten Indonendent School District	00	11 Slatan High School		۲.	C 000 00	2	۲.	12,000,00
Matagorda Independent School Matagorda Independent School Matagorda Independent School Matagorda Independent School O00 Central Kitchen Oven/Range - Combination \$ 2,685.01 1 \$ 2,685.01	<u> </u>	UC	1 Station High School		۶	6,000.00		Ş	12,000.00
Matagorda Independent School OOPTO District OOD Central Kitchen Oven/Range - Combination \$ 2,685.01 1 \$ 2,685.01 00772 Palacios Independent School District 001 Palacios High School Stationary \$ 30,000.00 2 \$ 60,000.00 Van Vleck Int dindependent School 00773 District 103 Van Vleck Int Oven/Range - Combination \$ 3,500.00 2 \$ 60,000.00 Eagle Pass Independent School 00774 District 041 Eagle Pass Junior High Coolers: Beverage/Milk \$ 2,419.13 2 \$ 4,838.26 Eagle Pass Independent School 0074 District 041 Eagle Pass Junior High Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 0074 District 042 Memorial Junior High Oven/Range - Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 102 Ray Darr Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 103 Language Devel Ctr Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 104 G	·	00	11 Poosevelt High School	• •	ċ	10 000 00	1	ċ	10,000,00
00771 District		00	1 Roosevert High School	Case	۲	10,000.00	1	ې	10,000.00
Serving line: Hot/Cold; Mobile or Stationary \$ 30,000.00 2 \$ 60,000.00		00	n Central Kitchen	Oven/Range - Combination	¢	2 685 01	1	¢	2 685 01
00772 Palacios Independent School District 001 Palacios High School Stationary \$ 30,000.00 2 \$ 60,000.00	00771 District	00	o central kiterien		Ų	2,003.01	<u> </u>	٦	2,003.01
Van Vleck Independent School 103 Van Vleck Int Oven/Range - Combination \$ 3,500.00 2 \$ 7,000.00 00773 District 0041 Eagle Pass Independent School Coolers: Beverage/Milk \$ 2,419.13 2 \$ 4,838.26 Eagle Pass Independent School 00774 District 041 Eagle Pass Junior High Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 0074 District 042 Memorial Junior High Oven/Range - Convection \$ 8,159.27 2 \$ 16,318.54 Eagle Pass Independent School 0074 District 102 Ray Darr Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 102 Ray Darr Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 103 Language Devel Ctr Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 104 Graves Elementary Oven/Range - Convection	00772 Palacios Independent School District	00	1 Palacios High School		ς	30,000,00	2	ς	60 000 00
00773 District	·	00	T Talacios Tiigii School	Stationary	Ą	30,000.00		Y	00,000.00
Eagle Pass Independent School 00774 District 041 Eagle Pass Junior High Coolers: Beverage/Milk \$ 2,419.13 2 \$ 4,838.26 Eagle Pass Independent School 00774 District 041 Eagle Pass Junior High Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 042 Memorial Junior High Oven/Range - Convection Eagle Pass Independent School 00774 District 102 Ray Darr Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 103 Language Devel Ctr Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 105 Liberty Elementary Oven/Range - Convection \$ 8,059.27 Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection \$ 8,059.27 1 \$ 8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 123 Millam Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 124 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00	·	10	3 Van Vleck Int	Oven/Range - Combination	\$	3 500 00	2	\$	7 000 00
00774 District 041 Eagle Pass Junior High Coolers: Beverage/Milk \$ 2,419.13 2 \$ 4,838.26	33773 77		3 van vicek inc	Gren, nange combination	<u> </u>	3,300.00		γ	7,000.00
Eagle Pass Independent School 0774 District 041 Eagle Pass Junior High Oven/Range - Convection Pressureless Eagle Pass Independent School 0774 District 042 Memorial Junior High Oven/Range - Convection S 8,159.27 2 \$ 16,318.54 Eagle Pass Independent School 0774 District 102 Ray Darr Elementary Steamer: Convection Pressureless S 6,578.00 1 \$		04	1 Fagle Pass Junior High	Coolers: Beverage/Milk	Ś	2.419.13	2	Ś	4.838.26
00774 District 041 Eagle Pass Junior High Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 042 Memorial Junior High Oven/Range - Convection \$ 8,159.27 2 \$ 16,318.54 Eagle Pass Independent School 00774 District 102 Ray Darr Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 103 Language Devel Ctr Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection \$ 8,059.27 1 \$ 8,059.27 Eagle Pass Independent School District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00			1 Lugie i uss sumoi riigii	Coolers: Develope, iviiii	Υ	2,113.13		Y	1,030.20
Eagle Pass Independent School 0774 District 0775 District 0775 District 0776 District 0777 District 0778 District		04	1 Eagle Pass Junior High	Steamer: Convection Pressureless	Ś	6.578.00	1	Ś	6.578.00
00774 District 042 Memorial Junior High Oven/Range - Convection \$ 8,159.27 2 \$ 16,318.54 Eagle Pass Independent School 00774 District 102 Ray Darr Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 103 Language Devel Ctr Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Oven/Range - Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection \$ 8,059.27 1 \$ 8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00			1 148.0 1 400 04.110. 1118.1	Geografie Gont College Transcription	Υ	0,370.00		Y	0,370.00
Eagle Pass Independent School 0774 District 102 Ray Darr Elementary 103 Language Devel Ctr 104 Graves Elementary 105 Eagle Pass Independent School 105 Language Devel Ctr 106 Graves Elementary 1074 District 1074 District 1075 Eagle Pass Independent School 1075 Eagle Pass Independent School 1076 District 10774 District 1		04	2 Memorial Junior High	Oven/Range - Convection	Ś	8.159.27	2	Ś	16.318.54
00774 District 102 Ray Darr Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 103 Language Devel Ctr Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection \$ 8,059.27 1 \$ 8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$ 5,500.00 1 \$ 5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00						5,255.21			
Eagle Pass Independent School 00774 District 103 Language Devel Ctr Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 8,059.27 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 Refrigerator/Cooler: Walk-in/Reach-		10	2 Ray Darr Elementary	Steamer: Convection Pressureless	Ś	6.578.00	1	Ś	6.578.00
00774 District 103 Language Devel Ctr Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection \$ 8,059.27 1 \$ 8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$ 5,500.00 1 \$ 5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 Refrigerator/Coolers: Walk-in/Reach-			,,		<u> </u>	0,070.00		Υ	0,070.00
Eagle Pass Independent School 00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection \$ 8,059.27 1 \$ 8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$ 5,500.00 1 \$ 5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 Refrigerator/Cooler: Walk-in/Reach-	·	10	3 Language Devel Ctr	Steamer: Convection Pressureless	\$	6.578.00	1	\$	6.578.00
00774 District 104 Graves Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection \$ 8,059.27 1 \$ 8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$ 5,500.00 1 \$ 5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 Refrigerator/Cooler: Walk-in/Reach-						.,			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Eagle Pass Independent School 00774 District 120 Liberty Elementary Oven/Range - Convection \$ 8,059.27 1 \$ 8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$ 5,500.00 1 \$ 5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 Refrigerator/Cooler: Walk-in/Reach-	·	10	4 Graves Elementary	Steamer: Convection Pressureless	\$	6,578.00	1	\$	6,578.00
O0774 District 120 Liberty Elementary Oven/Range - Convection \$8,059.27 1 \$8,059.27 Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$6,578.00 1 \$6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$9,000.00 1 \$9,000.00 00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$5,500.00 1 \$5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$9,000.00 1 \$9,000.00 Refrigerator/Cooler: Walk-in/Reach-	Eagle Pass Independent School		•			,			
Eagle Pass Independent School 00774 District 121 Armando Cerna Elementary Steamer: Convection Pressureless \$ 6,578.00 1 \$ 6,578.00 00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$ 5,500.00 1 \$ 9,000.00 Refrigerator/Cooler: Walk-in/Reach-		12	0 Liberty Elementary	Oven/Range - Convection	\$	8,059.27	1	\$	8,059.27
00774 District121 Armando Cerna ElementarySteamer: Convection Pressureless\$ 6,578.001\$ 6,578.0000807 Midland Independent School District106 De Zavala ElementaryOven/Range - Convection\$ 9,000.001\$ 9,000.0000807 Midland Independent School District113 Milam ElementaryCoolers: Beverage/Milk\$ 5,500.001\$ 5,500.0000807 Midland Independent School District117 South ElementaryOven/Range - Convection\$ 9,000.001\$ 9,000.00Refrigerator/Cooler: Walk-in/Reach-	Eagle Pass Independent School		<u> </u>						
00807 Midland Independent School District 106 De Zavala Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$ 5,500.00 1 \$ 5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection Refrigerator/Cooler: Walk-in/Reach-		12	1 Armando Cerna Elementary	Steamer: Convection Pressureless	\$	6,578.00	1	\$	6,578.00
00807 Midland Independent School District 113 Milam Elementary Coolers: Beverage/Milk \$ 5,500.00 1 \$ 5,500.00 00807 Midland Independent School District 117 South Elementary Oven/Range - Convection Refrigerator/Cooler: Walk-in/Reach-			,			,			,
00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 Refrigerator/Cooler: Walk-in/Reach-	00807 Midland Independent School District	10	6 De Zavala Elementary	Oven/Range - Convection	\$	9,000.00	1	\$	9,000.00
00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 Refrigerator/Cooler: Walk-in/Reach-	·		·			-			-
00807 Midland Independent School District 117 South Elementary Oven/Range - Convection \$ 9,000.00 1 \$ 9,000.00 Refrigerator/Cooler: Walk-in/Reach-	00807 Midland Independent School District	11	3 Milam Elementary	Coolers: Beverage/Milk	\$	5,500.00	1	\$	5,500.00
Refrigerator/Cooler: Walk-in/Reach-	·		·		-	-			
	00807 Midland Independent School District	11	7 South Elementary	Oven/Range - Convection	\$	9,000.00	1	\$	9,000.00
00807 Midland Independent School District 117 South Elementary in \$ 4.000.00 1 \$ 4.000.00	·			Refrigerator/Cooler: Walk-in/Reach-					
, i	00807 Midland Independent School District	11	7 South Elementary	in	\$	4,000.00	1	\$	4,000.00

CE ID CE Name	Site ID Site Name	Equipment	timated Unit Cost, Each	Quantity Awarded	Total
00807 Midland Independent School District	118 Travis Elementary	Coolers: Beverage/Milk	\$ 5,500.00	1	\$ 5,500.00
00829 Texas Serenity Academy (Conroe,Tx)	003 Texas Serenity Academy	Oven/Range - Convection	\$ 7,500.00	1	\$ 7,500.00
00829 Texas Serenity Academy (Conroe,Tx)	003 Texas Serenity Academy	Steamer: Convection Pressureless	\$ 7,500.00	1	\$ 7,500.00
00829 Texas Serenity Academy (Conroe,Tx)	004 Texas Serenity Academy - Gano	Steamer: Convection Pressureless	\$ 5,400.00	1	\$ 5,400.00
00836 Dumas Independent School District	101 Cactus Elementary	Coolers: Beverage/Milk	\$ 2,700.00	1	\$ 2,700.00
00836 Dumas Independent School District	101 Cactus Elementary	Refrigerator/Cooler: Walk-in/Reach- in	\$ 15,000.00	1	\$ 15,000.00
00836 Dumas Independent School District	101 Cactus Elementary	Serving line: Hot/Cold; Mobile or Stationary	\$ 2,700.00	1	\$ 2,700.00
00836 Dumas Independent School District	105 Green Acres Elementary	Coolers: Beverage/Milk	\$ 2,700.00	1	\$ 2,700.00
00836 Dumas Independent School District	105 Green Acres Elementary	Serving line: Hot/Cold; Mobile or Stationary	\$ 2,700.00	1	\$ 2,700.00
Pewitt Cons Independent School 00839 District	041 Pewitt Junior High	Serving line: Hot/Cold; Mobile or Stationary	\$ 10,000.00	1	\$ 10,000.00
Pewitt Cons Independent School 00839 District	102 Pewitt Elementary	Serving line: Hot/Cold; Mobile or Stationary	\$ 10,000.00	1	\$ 10,000.00
Burkeville Independent School 00857 District	001 Burkeville School	Oven/Range - Convection	\$ 9,095.00	1	\$ 9,095.00
Burkeville Independent School 00857 District	001 Burkeville School	Steamer: Convection Pressureless	\$ 21,477.00	1	\$ 21,477.00
00864 Gulf Coast Council of Laraza, Inc.	001 Dr M L Garza-Gonzalez	Coolers: Beverage/Milk Serving line: Hot/Cold; Mobile or	\$ 5,500.00	1	\$ 5,500.00
00868 Calallen Independent School District Port Aransas Independent School	041 Calallen Middle	Stationary	\$ 25,000.00	3	\$ 75,000.00
00872 District Tuloso-Midway Independent School	000 Central Kitchen	Steamer: Convection Pressureless Serving line: Hot/Cold; Mobile or	\$ 18,000.00	1	\$ 18,000.00
00874 District Banquete Independent School	001 Tuloso-Midway High School	Stationary Coolers: Merchandiser or Display	\$ 100,000.00	1	\$ 100,000.00
00875 District Bridge City Independent School	101 Banquete Elementary	Case	\$ 9,000.00	1	\$ 9,000.00
00882 District	103 Bridge City Intermediate	Coolers: Beverage/Milk	\$ 5,800.00	2	\$ 11,600.00

CE ID CE Name	Site ID	Site Name	Equipment	Estimated Unit Cost, Each		Quantity Awarded		Total
Bridge City Independent School			Serving line: Hot/Cold; Mobile or					
00882 District	-	103 Bridge City Intermediate	Stationary	\$	44,000.00	2	\$	88,000.00
Orangefield Independent School			Serving line: Hot/Cold; Mobile or					
00883 District	(001 Orangefield High School	Stationary	\$	50,000.00	2	\$	100,000.00
Livingston Independent School								
00916 District	(002 Livingston High School	Coolers: Beverage/Milk	\$	2,500.00	8	\$	20,000.00
00918 Amarillo Independent School Distric	t :	124 Rogers Elementary	Coolers: Beverage/Milk	\$	3,500.00	1	\$	3,500.00
			Serving line: Hot/Cold; Mobile or					
00918 Amarillo Independent School Distric	t :	130 Sunrise Elementary	Stationary	\$	45,000.00	1	\$	45,000.00
00040 A verille lede en deel Celevel Birtie		400 M/h*tu*	Coolers Decrees (8.4°H		5 000 00			5 000 00
00918 Amarillo Independent School Distric	τ :	132 Whittier Elementary	Coolers: Beverage/Milk	\$	5,000.00	1	\$	5,000.00
00010 Amarilla Indonendent Coheal Distric	. ,	122 Whittian Flamonton	Refrigerator/Cooler: Walk-in/Reach-	۲	15 000 00	1	۲	15 000 00
00918 Amarillo Independent School Distric Pecos-Barstow-Toyah Independent	ι .	132 Whittier Elementary	in Refrigerator/Cooler: Walk-in/Reach-	\$	15,000.00	1	\$	15,000.00
00933 School District	,	042 Crockett Middle School	in	\$	4,000.00	1	\$	4,000.00
00962 Coldspring-Oakhurst Cons		001 Coldspring-Oakhurst High School	Coolers: Beverage/Milk	\$	1,200.00	2	\$	2,400.00
00962 Coldspring-Oakhurst Cons		041 Lincoln Junior High	Coolers: Beverage/Milk	\$	1,200.00	1	\$	1,200.00
00302 Coluspining Outrituist Colls		541 Emedir Junior Figure	Cabinet: Hot/Cold Holding;	7	1,200.00		<u>ب</u>	1,200.00
			Mobile/Transport; Stationary/Reach-					
00962 Coldspring-Oakhurst Cons		103 Coldspring-Oakhurst Int	In	\$	2,700.00	1	\$	2,700.00
00962 Coldspring-Oakhurst Cons		103 Coldspring-Oakhurst Int	Coolers: Beverage/Milk	\$	1,200.00	1	\$	1,200.00
, ,			Refrigerator/Cooler: Walk-in/Reach-		,			,
00962 Coldspring-Oakhurst Cons		103 Coldspring-Oakhurst Int	in	\$	5,000.00	1	\$	5,000.00
Shepherd Independent School			Serving line: Hot/Cold; Mobile or		,			,
00963 District	(041 Shepherd Middle School	Stationary	\$	120,000.00	1	\$	120,000.00
			Coolers: Merchandiser or Display					
00969 Sinton Independent School District	(041 E Merle Smith Middle School	Case	\$	2,253.66	2	\$	4,507.32
			Coolers: Merchandiser or Display					
00970 Taft Independent School District	(001 Taft High School	Case	\$	6,000.00	1	\$	6,000.00
			Serving line: Hot/Cold; Mobile or					
00970 Taft Independent School District	(001 Taft High School	Stationary	\$	25,000.00	2	\$	50,000.00
00980 Center Independent School District	(041 Center Middle School	Oven/Range - Convection	\$	7,000.00	2	\$	14,000.00
00980 Center Independent School District		104 F L Moffett Primary	Oven/Range - Convection	\$	7,000.00	2	\$	14,000.00

CE ID	CE Name	Site ID	Site Name	Equipment	timated Unit Cost, Each	Quantity Awarded	Total
	Shelbyville Independent School			Refrigerator/Cooler: Walk-in/Reach-			
00982	District	(002 Shelbyville School	in	\$ 4,576.00	1	\$ 4,576.00
	East Fort Worth Montessori			Serving line: Hot/Cold; Mobile or			
01013	Academy	1	01 East Fort Worth Montessori	Stationary	\$ 2,000.00	1	\$ 2,000.00
				Serving line: Hot/Cold; Mobile or			
01034	Abilene Independent School District	(006 Daep	Stationary	\$ 88,000.00	1	\$ 88,000.00
01041	Meadow Independent School District	(000 Central Kitchen	Oven/Range - Convection	\$ 7,590.00	1	\$ 7,590.00
				Serving line: Hot/Cold; Mobile or			
01041	Meadow Independent School District	(000 Central Kitchen	Stationary	\$ 3,511.00	2	\$ 7,022.00
	Colmesneil Independent School			Coolers: Merchandiser or Display			
01079	District	(000 Central Kitchen	Case	\$ 1,000.00	1	\$ 1,000.00
	Woodville Independent School						
01080	District	(001 Woodville High School	Coolers: Beverage/Milk	\$ 5,500.00	1	\$ 5,500.00
	Woodville Independent School			Coolers: Merchandiser or Display			
01080	District	(001 Woodville High School	Case	\$ 10,500.00	2	\$ 21,000.00
				Coolers: Merchandiser or Display			
01081	Warren Independent School District	(001 Warren High School	Case	\$ 1,043.00	11	\$ 11,473.00
				Refrigerator/Cooler: Walk-in/Reach-			
01081	Warren Independent School District	(001 Warren High School	in	\$ 48,000.00	1	\$ 48,000.00
				Coolers: Merchandiser or Display			
01081	Warren Independent School District	(041 Warren Junior High	Case	\$ 1,043.00	1	\$ 1,043.00
				Serving line: Hot/Cold; Mobile or			
01085	Gilmer Independent School District	(041 Gilmer Junior High	Stationary	\$ 30,000.00	2	\$ 60,000.00
	Uvalde Cons Independent School			Serving line: Hot/Cold; Mobile or			
01096	District	(044 Morales Junior High	Stationary	\$ 80,000.00	1	\$ 80,000.00
	Uvalde Cons Independent School			Serving line: Hot/Cold; Mobile or			
01096	District	1	10 Flores Elementary	Stationary	\$ 30,000.00	1	\$ 30,000.00
01098	San Felipe-Del Rio	1	.04 San Felipe Memorial Middle School	Coolers: Beverage/Milk	\$ 7,500.00	1	\$ 7,500.00
				Serving line: Hot/Cold; Mobile or			
01098	San Felipe-Del Rio	1	.04 San Felipe Memorial Middle School	Stationary	\$ 35,000.00	1	\$ 35,000.00
				Serving line: Hot/Cold; Mobile or			
01098	San Felipe-Del Rio	1	111 Chavira Elementary	Stationary	\$ 35,000.00	1	\$ 35,000.00
01123	United Independent School District	1	11 Perez Elementary	Oven/Range - Convection	\$ 9,000.00	2	\$ 18,000.00

CE ID CE Name	Site ID	Site Name	Equipment	Estimated Unit Cost, Each		Quantity Awarded		Total
01123 United Independent School District		119 Prada Elementary	Oven/Range - Convection	\$	9,000.00	1	Ś	9,000.00
			Refrigerator/Cooler: Walk-in/Reach-	-	0,000.00			5,000.00
01123 United Independent School District		121 Zapata Kennedy Elementary	in	\$	7,000.00	1	\$	7,000.00
01128 Wharton Independent School District		102 Sivells Elementary School	Coolers: Beverage/Milk	\$	2,031.02	2	\$	4,062.04
01128 Wharton Independent School District		106 Wharton Elementary School	Slicer	\$	4,208.05	1	\$	4,208.05
			Refrigerator/Cooler: Walk-in/Reach-					
01136 Electra Independent School District		101 Electra Elementary	in	\$	8,500.00	1	\$	8,500.00
Georgetown Independent School			Serving line: Hot/Cold; Mobile or					
01148 District		103 Frost Elementary	Stationary	\$	8,000.00	1	\$	8,000.00
			Serving line: Hot/Cold; Mobile or			_		
01149 Granger Independent School District		001 Granger School	Stationary	\$	148,067.68	1	Ş	148,067.68
Crystal City Independent School		000 Control Kitch on	Over /Barres Convertion	,	45 000 00	4	۸.	45 000 00
01183 District Crystal City Independent School		000 Central Kitchen	Oven/Range - Convection Refrigerator/Cooler: Walk-in/Reach-	\$	15,000.00	1	\$	15,000.00
01183 District		101 Dr Tomas Rivera Elementary	in	\$	25,000.00	1	ċ	25,000.00
Crystal City Independent School		101 Di Tomas Rivera Elementary	Refrigerator/Cooler: Walk-in/Reach-	Ą	23,000.00	1	Ş	23,000.00
01183 District		104 Benito Juarez Elementary	in	\$	25,000.00	1	\$	25,000.00
OTIOS DISTINCT		Bob Hope School - Elementary		7	23,000.00	-	Υ	23,000.00
01187 Bob Hope School		101 Campus	Oven/Range - Convection	Ś	10,000.00	1	\$	10,000.00
			Serving line: Hot/Cold; Mobile or		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
01195 Clarity Child Guidance Center		000 Central Kitchen	Stationary	\$	4,500.00	2	\$	9,000.00
01239 The Devereux Foundation		000 Central Kitchen	Oven/Range - Combination	\$	6,500.00	1	\$	6,500.00
			Refrigerator/Cooler: Walk-in/Reach-					
01249 Texas Juvenile Justice Department		002 Ayers House	in	\$	2,851.15	1	\$	2,851.15
			Refrigerator/Cooler: Walk-in/Reach-					
01249 Texas Juvenile Justice Department		022 Willoughby House	in	\$	4,500.00	1	\$	4,500.00
			Coolers: Merchandiser or Display					
01281 Texas School For The Deaf		000 Central Kitchen	Case	\$	8,555.00	2	\$	17,110.00
01286 Helping Hand Home For Children Inc		001 Helping Hand Home For Children	Oven/Range - Combination	\$	3 800 00	1	Ś	3,800.00
01200 Helping Hand Home For Children Inc		OOT THEIPING HAIR HOME FOR CHIRDREN	Overi, Kange - Combination	٦	3,800.00	1	ې	3,800.00
01286 Helping Hand Home For Children Inc		001 Helping Hand Home For Children	Steamer: Convection Pressureless	\$	5,939.00	1	\$	5,939.00
Lubbock County Juvenile Justice		Lubbock County Juvenile Justice						
01300 Center		001 Center	Slicer	\$	4,000.00	1	\$	4,000.00

				timated Unit	Quantity		
CE ID CE Name	Site ID Site Name	Equipment	(Cost, Each	Awarded		Total
Children'S Hope Residential Services		Refrigerator/Cooler: Walk-in/Reach-					
01358 Inc	004 Children'S Hope School Levelland	in	\$	1,656.00	1	\$	1,656.00
Children'S Hope Residential Services							
01358 Inc	005 Children'S Hope Lubbock	Oven/Range - Combination	\$	3,770.00	1	\$	3,770.00
Children'S Hope Residential Services		Refrigerator/Cooler: Walk-in/Reach-					
01358 Inc	005 Children'S Hope Lubbock	in	\$	1,656.00	1	\$	1,656.00
01660 Holy Family School	001 Holy Family School	Coolers: Beverage/Milk	\$	5,000.00	1	\$	5,000.00
01660 Holy Family School	001 Holy Family School	Oven/Range - Convection	\$	10,000.00	1	\$	10,000.00
04979 El Paso Leadership Academy	001 El Paso Leadership Academy	Coolers: Beverage/Milk	\$	4,289.88	1	\$	4,289.88
		Serving line: Hot/Cold; Mobile or					
04979 El Paso Leadership Academy	001 El Paso Leadership Academy	Stationary	\$	6,931.54	2	\$	13,863.08
05385 The Beta Foundation	001 Beta Academy	Coolers: Beverage/Milk	\$	3,500.00	2	\$	7,000.00
		Coolers: Merchandiser or Display					
05385 The Beta Foundation	001 Beta Academy	Case	\$	2,000.00	1	\$	2,000.00
05385 The Beta Foundation	001 Beta Academy	Oven/Range - Combination	\$	4,000.00	1	\$	4,000.00
		Refrigerator/Cooler: Walk-in/Reach-					
05385 The Beta Foundation	001 Beta Academy	in	\$	8,000.00	1	\$	8,000.00
		Serving line: Hot/Cold; Mobile or					
05385 The Beta Foundation	001 Beta Academy	Stationary	\$	5,000.00	1	\$	5,000.00
Total Awarded						\$ 3	,661,000.27